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9. rt 1T1,: ua n.i rutl ur.t a 11unr :rJfr rio^.:ru
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10. .:urj:slrar

a'lnt'i-uuon':ut]:s:rrrut] 2561 l:tvrulura:1?,ifi ?{riu 47,400 rru (drafiuriprr&'uf;iouurv,
fr,ru) To ufi :r uas rd r er d'.:d

1. nirarurnruivrri'rn:nrulan (alFrig) (ooo urvr x e ri.:Trr x 2 au x 2iu) = 7,20o
2- rirarurnruirarn:nrulu (nrnig) (:oo L.ryr x z*-.rl'r x z au x 2 iu) = g,400
3. orur:aarriu (zoo u.tyt x 50 nu x Z iu x t fl'a) = 20,000
4. orur:'jr.:uayrn6a.r6u ( 35 r_rrvr x 50nu x2iuxzfld = ,roo
S. eiri'rsira:irrirranar: ( 40 qn x 70 uru ) = 2,800
o. rill-aqunio.:rfluu rravqrJn:ai 

= 2,000
:': er ri rldsi r Er 1i',i riu

= 47,400

q r _ rirldsiru ar:rl:n#?sirerluln:tnr:lfrvrs.:drururiuttavsiru:unu
11. Ft?iJ?Fln:rrudrrio

1'1'f iauavzatn:TrdrtSalunr:q-Fr?irttu?vr1{nlTguainiorfiounuri 
n:unr:uvrvrrj

1 i,.2 enrurfirnoloza.l{'rdriunr:ou:u
12. nr:srnnrmJ:srfiur.la

r]:vufi ur.rarir rEotorln:{n1: -r {qorn
12'1' tJ:vtfiu:vrYlafllTlu?a#o:li'rtrirorn'l:ou:3J (Reaction) ri:srfiuI,ul{irurrJ:v rfruior
n:rufrrvrotosiarr:r:lriorirlotnl:e-FrnliouuJrracfi'zuurvy{lu6,..,u*o..,rfi,r;1ou.ra.,rru

Fl?1uffvq?n unv:rJuulnr:o-nnr:lnettrilruur-J:vrfiu?osalruili?,turn:r1nnafir,feturf,u

1,2.2 rJ:vufiun:rufuavi{rlo (Knowl.edge) inqrnnrr:ri,ntrur{rlr"lrn.,rurrtuav:&.suur
InurJ:vffiunrnnr:#trnmnr:e[{r{rir.,n-,rrrru uarnr:fieiruirruuan,rnm:r6nuiri
tz.3 rJ:v ffi uo r n uuuil naou Fl: ,tlt!, riou ua vu#r nr :ou::r
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